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Numerical Calculations for a Mass Point Sliding

Down the Smooth Hemisphere

LI Xiankuo
(Dongying Shengli No. 1 Middle School,Dongying,Shandong 257000)

Abstract: Problems of a mass point sliding down the smooth hemisphere are investigated using Matlab

software. Velocity and acceleration of hemisphere with time and angular velocity and angular acceleration of mass

point with time are shown. The influence of initial conditions on the total time of mass point sliding down the

hemisphere and the location of mass point escaping from the hemisphere is further discussed.

Key words: free smooth hemisphere;velocity;acceleration; time;escaping location; Matlab;numerical calculation



